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Vector Review W.S.

1. Whatis the difference between a vector and a scalar?
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2.  What method is used to add vectors?
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3. List a few examples of vectors.
Necpreenest, Newoezt, freeieparase, fuoce

4.  You can row a boat in still water a velocity of 12 m/s. If you row downstream (with the
current) in a river that is flowing at a rate of 5 m/s, how long will it take you reach the end

of the river 1500 m downstream? = [1n/q b=1§00n t-%: IZ\":li - 992«

5.  Two vectors with magnitudes of 3 m and 4 m are added together. What is the maximum
value that the resultant could be? What is the minimum possible value of the resultant?
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6. If akiteis 32m in the air and you unwound 105 m of string to get it there, what is tthq n
angle that the string makes with the ground? Assume no sag in the string. P
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7.  Avector has a horizontal component of the 32'm/s East and a vertical component of
23 m/s South. What is the magnitude and direction of the vector?

‘)i" {Z A E o~ (’%3
9] °
N o M s 36" oo S5

\\\/

8.  What are the components of a vector with a magnitude of 56 m/s? and a direction of
72.4° West of South?
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9. A plane travelling at a velocity of 56 m/s east encounters a wind blowing 22 m/s,
34° South of East. What is the resultant velocity of the plane?
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4. Adog travels 37 m, 23° South of West. It then turns and travels 29 m, 41° East of South.
What is the dogs displacement from its starting position?
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